



STAFF SELECTION COMMISSION

VOLUME – VI

Advance Maths



Contents

1.Number System	1
2.Surds & Indices	23
3.HCF & LCM	44
4.Algebra	55
5.Trigonometry	85
6.Height & Distance	107
7.Geometry	112
8. Mensuration	155
9. Data Interpretation	194
10. Coordinate Geometry	213





ALGEBRA

These are Second Formula's Which are often used in this topic.

$$\begin{aligned} 1 - (a+b)^{2} &= a^{2} + b^{2} + 2ab \\ 2 - (a+b)^{2} &= a^{2} + b^{2} + 2ab \\ 3 - (a^{2} - b^{2}) &= (a+b)(a-b) \\ u - (a+b)^{2} &= (a-b)^{2} + uab \\ 5 - (a-b)^{2} &= (a+b)^{2} - uab \\ 6 - (a+b)^{3} &= a^{3} + 3a^{2}b + 3ab^{2} + b^{3} = a^{3} + b^{3} + 3ab(a+b) \\ 7 - (a+b)^{3} &= a^{3} - b^{3} - 3ab(a-b) = a^{3} - b^{3} - 3a^{2}b + 3ab^{2} \\ 8 - (a+b)^{4} &= a^{4} + ua^{3}b + 6a^{2}b^{2} + uab^{3} + b^{4} \\ 9 - (a+b)^{5} &= a^{5} + 5a^{4}b + 1ba^{3}b^{2} + 10a^{2}b^{3} + 5ab^{4} + b^{5} \\ 10 - (a-b)^{4} &= a^{4} - ua^{3}b + 6a^{2}b^{2} + uab^{3} + b^{4} \\ 11 - (a-b)^{5} &= a^{5} - 5a^{4}b + 4ba^{3}b^{2} - 4ba^{2}b^{3} + 5ab^{4} - b^{5} \\ 12 - a^{3} + b^{3} &= (a+b)(a^{2} + b^{2} + ab) \\ 13 - a^{3} - b^{3} &= (a+b)(a^{2} + b^{2} + ab) \\ 14 - a^{3} + b^{3} &= (a+b)^{3}(a^{2} + b^{2} + ab) \\ 15 - a^{3} - b^{3} &= (a-b)^{3} + 3ab(a-b) \\ 1b - a^{3} + b^{3} + c^{3} - 3abc &= (a+b+c)(a^{2} + b^{2} + c^{2} - ab - bc - ca) \\ 47 - a^{2} + b^{2} + c^{2} - ab - bc - ca &= \frac{4}{2} \left(a^{2} + b^{2} - 2ab + b^{2} + c^{2} - 2bc + c^{2} + a^{2} - 2ab - a^{2} \right) \\ &= \frac{4}{2} \left((a-b)^{2} + (b-c)^{2} + (c-a)^{2} \right) \end{aligned}$$

oppersuoles Unleash the topper in you

18-
$$a^{3} + b^{3} + c^{3} - 3abc = \frac{1}{2} (a+b+c) \left[(a-b)^{2} + (b-c)^{2} + (c-a)^{2} \right]$$

19- IF $a+b+c=0$, then $a^{3} + b^{3} + c^{3} = 3abc$
20- $a^{2} + b^{2} = (a+b)^{2} - 2ab$
21- $a^{2} + b^{2} = (a-b)^{2} + 2ab$
22- $(a+b+c)^{2} = (a^{2} + b^{2} + c^{2} + 2ab + 2bc + 2ca)$
23- $(a+b+c)^{3} = a^{3} + b^{3} + c^{3} + 3 (a+b) (b+c) (c+a)$
24- $a^{4} + b^{4} + a^{2}b^{2} = (a^{2} + b^{2} - ab) (a^{2} + b^{2} + ab)$
25- $(a+b)^{2} - (a-b)^{2} = 4ab$
26- $(a+b)^{2} + (a-b)^{2} = 2(a^{2} + b^{2})$
Unleash the topper in you

Que: If $\mu + \frac{1}{\lambda} = 2$ then life is the value of $\mu^{q} + \frac{1}{\mu^{197}}$? Soln:- In Such questions, we put possible Value of H in egn frere Possible Value is H = 1 So answer (1)⁹⁹ + $\frac{1}{11199}$ = 1 + 1 = 2 Que: If $H + \frac{1}{H} = -2$, What is the value of $H^{99} + \frac{1}{H511} = ?$ Saln;- $(-1)^{99} + \left(\frac{1}{(-1)^{511}}\right) = -2$ Que: $\frac{5H-3}{x} + \frac{5y-3}{y} + \frac{5z-3}{z} = 0, \frac{1}{H} + \frac{1}{y} + \frac{1}{z} = ?$ Soln: Basic: - $= \frac{5H}{H} - \frac{3}{H} + \frac{5H}{H} + \frac{3}{H} + \frac{5Z}{Z} + \frac{3}{Z} = 0$ $= 15 - \frac{3}{11} - \frac{3}{4} - \frac{3}{7} = 0$ $= 15 = 3 \left(\frac{1}{H} + \frac{4}{Y} + \frac{4}{Z}\right)$ $\frac{1}{1} + \frac{1}{4} + \frac{1}{7} = 5$ Turick! $= \frac{5H-3}{H} + \frac{5Y-3}{Y} + \frac{5Z-3}{Y} = \frac{5+5+5}{3} = 5$

Do the Sum of Common multiples of alphabet and divide by Constant Value.

Que : $\frac{9H-5}{H} + \frac{9Y-5}{Y} + \frac{9Z-5}{Z} = 0, \frac{1}{H} + \frac{1}{Y} + \frac{1}{Z} = ?$ Soln: $= \frac{9H-5}{x} + \frac{9Y-5}{Y} + \frac{9Z-5}{Z}$ $= \frac{9+9+9}{5} = \frac{27}{5}$ Que: $2a + 3b = 4, 8a^{3} + 27b^{3} + 72ab = ?$ Soln: 2a + 3b = 4 (D) Cube to both Sides of eqh $(2a + 3b)^{3} = (4)^{3}$ $(2a)^{3} + (3b)^{3} + 3x2x3b (2a + 3b) = 64$ $8a^{3} + 27b^{3} + 18ab x4 = 64$ $8a^{3} + 27b^{3} + 72ab = 64$

<u>Ivick</u>: Assume the Value of a and be Which Satisfies the eqn of and Calculation of that eqn should be easy.

$$2a + 3b = 4$$

$$4 = 2$$

$$a = 2 \quad b = 0$$

$$2x2 + 3x0 = 4$$

$$4 = 4$$

$$4 = 4$$
Hhen,
$$= 8 \times (2)^{3} + 27 \times (0)^{3} + 72 \times 2 \times 0$$

$$= 64$$

 $a^2 + b^2 - c^2 = 0$ Que :- $\frac{36+b6-c6-}{36+b^2+c^2} = ?$ Solh-Torick ! Assume the Value of A, B and C a=1, b=1, $C=\sqrt{2}$ Put these Values in egh $=\frac{q^{6}+b^{6}-c^{6}}{z^{2}-b^{2}-c^{2}}$ $= \frac{(1)^{6} + (1)^{6} - (12)^{6}}{(1)^{2} - (1)^{2} - (12)^{2}} = \frac{1+1-8}{1\cdot 1\cdot 2} = \frac{6}{2} = -3$ <u>Basic</u>: $a^{2}+b^{2}-c^{2}=0$ $a^{2}+b^{2}=c^{2}=0$ Cube to the both Sides of eq. topper $\int \frac{d^2}{d^2 + b^2} = c^2$ Given in eqh $(3^2 + b^2)^3 = (C^2)^3$ $a^{6} + b^{6} + 3a^{2}b^{2}x(a^{2}+b^{2}) = c^{6}$ $a^{6} + b^{6} + 3a^{2}b^{2} \times c^{2} = c^{6}$ $a^{6} + b^{6} - c^{6} = -3 a^{2} b^{2} c^{2}$ Put the Value in eqh $-3a^{2}b^{2}c^{2} = -3$ $d^2 h^2 c^2$

Que'- a+b+c=0 $\left(\frac{a+b}{c}+\frac{b+c}{a}+\frac{c+a}{b}\right)\left(\frac{a}{b+c}+\frac{b}{c+a}+\frac{c}{a+b}\right) = ?$

Salh:- a+b+c=0 a+b = -C, b+c = -a, c+a = -bPut the Value in eqh $= \left(\frac{2}{2} + \frac{d}{d} + \frac{b}{d}\right) \left(\frac{d}{d} + \frac{b}{d} + \frac{c}{d}\right) = \frac{1}{2}$ $= -3\chi - 3 = 9$ Que: $\frac{a^2-b^2}{a^2+b^2} + \frac{b^2-ac}{b^2+ac} + \frac{c^2-ab}{c^2+ab} = 1$ then what is the Value of $\frac{\partial^2}{\partial^2 + bc} + \frac{b^2}{\partial^2 + bc} + \frac{c^2}{\partial^2 + bc} = ?$ Soln: Basic $\frac{a^2 - bc}{a^2 + bc} + \frac{b^2 - ac}{b^2 + ac} + \frac{c^2 - ab}{c^2 + ac} = 1$ Add 3 in both Sides. $\frac{\partial^2 - bc}{\partial^2 + bc} + 1 + \frac{b^2 - \partial c + 1}{b^2 + \partial c} + \frac{c^2 - ab}{c^2 + ab} + 1 = 1 + 3$ $\frac{a^{2} + bc}{a^{2} + bc} + \frac{b^{2} - ac + b^{2} + ac}{b^{2} + ac} + \frac{c^{2} - ab + c^{2} + ab}{a^{2} + ab} = 4$ $\frac{2a^2}{r^2+bc} + \frac{2b^2}{b^2+ac} + \frac{2c^2}{c^2+ab} = 4$ $\frac{a^2}{2 + b^2} + \frac{b^2}{b^2 + ac} + \frac{c^2}{c^2 + ab} = 2$

Toppersnotes

$$\frac{\overline{b^{2}-b^{2}}}{\overline{b^{2}+b^{2}}} + \frac{b^{2}-\overline{b^{2}}}{b^{2}+\overline{b^{2}}} + \frac{c^{2}-\overline{b^{2}}}{c^{2}+\overline{b^{2}}} = 1$$

Here in Such questions, We Consider that $\frac{1}{3}$ is the Value of each part of eqn (I.H.S) and all of three makes 1 oswhere Sum:

$$\frac{a^{2}-bc}{a^{2}+bc} = \frac{1}{3} \quad \frac{b^{2}-ac}{b^{2}+ac} = \frac{1}{3} , \frac{c^{2}-ab}{c^{2}+ab} = \frac{1}{3}$$

$$3a^{2}-3bc = a^{2}+bc , 3b^{2}-3ac = b^{2}+ac , 3c^{2}-3ab = c^{2}+ab$$

$$2a^{2} = 4bc , b^{2} = 2ca , c^{2} = 2ab$$

$$a^{2} = 2bc , b^{2} = 2ca , c^{2} = 2ab$$
So Put the Values in equation
$$\frac{2bc-bc}{2bc+bc} + \frac{2ac-ac}{2ac+ac} + \frac{2ab-ab}{2ab+ab}$$

$$= \frac{2}{3bc} + \frac{2ac}{3ac} + \frac{2ab}{3ab}$$

$$= \frac{6}{3} = 2$$

$$1e - (a^{2}+b^{2}+c^{2}) = (ab+bc+ca)$$

$$find \quad \frac{a+b}{c} = ?$$

$$\frac{c(a^{2}+b^{2}+c^{2}) = 2ab+2bc+2ca$$

$$a^{2}+b^{2}-2ab+b^{2}+c^{2}-2cb+c^{2}+a^{2}-2ca = 0$$

$$(a-b)^{2}+(b-c)^{2}+(c-a)^{2} = 0$$

As Le Studied before, each Part has equal Value of eqh So One Part is equal to Zero. $\begin{array}{c|cccc} (3-b)^{2} = 0 & (b-c)^{2} = 0 \\ \hline a-b = 0 & b = c \\ \hline a=b & \\ \end{array}$ d=p then a = b = c $= \frac{a+b}{c}$ $= \frac{c+c}{c} = 2$ loick In this type of questions, we assume the value or For easier you Can assume a=b=c=1 $= \frac{a+b}{c}$ Unleash the topper in you = $\frac{1+1}{c} = 2$ $Q_{4}e'_{-}$ $(a^{2}+b^{2}+c^{2})^{2}ab+bc+ca$ 4 + 5y - 3z = ?<u>Saln</u>: Assume the Value a = b = c = 1Que: $3 + \frac{1}{b} = 1$, $b + \frac{1}{c} = 1$, $3, b, c \neq 0$ then, find the Value of a.b.c ?

Ans - Basic b + $\frac{1}{c}$ = 1 b + $\frac{1}{c}$ = 1 b + $\frac{1}{a}$ = 1 b + $\frac{1}{a}$ = 1 a + $\frac{1}{a}$ = 1 b + $\frac{1}{a}$ = 1 a + $\frac{1}{a}$ = 1 b + $\frac{1}{a}$ $1=\frac{1}{b}+5$ $\frac{ab+1}{b} = 1$ ab+1 = bmultiply the eqh in both Sides by c abc + c = bcabc = bc - Cabc = c(b-1)abc = -1loick:- Assume the Values, a = 2, b = -1, $c = \frac{1}{2}$ P_{ut} in eq. h = abctopper in e $= 2 \times -1 \times \frac{1}{2} = -1$ $H^2 = y + z$, $y^2 = z + H$, $z^2 = H + y$

Unleash the topper in you

Find the Value of
$$\frac{1}{H+1} + \frac{1}{y+1} + \frac{1}{z+1}$$
?

Sulp: Trick Assume the Value of H, y and z

$$H = Y = z = 2$$

 $= \frac{1}{2+1} + \frac{1}{2+1} + \frac{1}{2+1} = \frac{3}{3} = 1$
Basic $= \frac{1}{2+1} + \frac{1}{2+1} + \frac{1}{2+1}$

multiply the numerator and denominator

Toppersnoles Unleash the topper in you

$$= \frac{H}{H^{2} + H} + \frac{H}{y^{2} + y} + \frac{Z}{z^{2} + z}$$

$$= \frac{H}{y^{2} + H} + \frac{Y}{z^{2} + H^{2}y} + \frac{Z}{H^{2}y^{2} + z}$$

$$= \frac{H + Y + Z}{H + Y + z} = 1$$
Que: $a^{3}b = abc = 150$, find Value of C?
Solly: IF $a^{3}b = abc$
 $a^{2} = c$
how assume the Value a and C and Put in eqh
 $a = c = 1$
 $abc = 180$
 $1x bx 1 = 180$
 $b = 180$, $c = 1$, $a = 1$
 $b = 180$, $c = 1$, $a = 1$
 $b = 180$, $c = 1$, $a = 1$
 $a + c$ $b = \frac{1}{a + b}$
Que: $\frac{a^{2}}{a + c} + \frac{b}{c + a} + \frac{c}{a + b} = 1$
 $\frac{a^{2}}{b + c} + \frac{b^{2}}{c + a} + \frac{c^{2}}{a + b} = ?$
Solly: $\frac{b}{c + a} = \frac{1}{3}$, $3a = b + c$ 0
 $\frac{b}{c + a} = \frac{1}{3}$, $3b = c + a$ 0
 $\frac{c}{a + b} = \frac{1}{3}$, $3c = a + b$ 0

Sum to eqn (), (2) and (3) 3(a+b+c) = 2a+2b+2c3+b+c = 0and Put the Value from eqn (), () and () $= \frac{a^2}{3a} + \frac{b^2}{2b} + \frac{c^2}{3a}$ $= \frac{(a+b+c)}{3} = \frac{0}{3} = 0$ Que: $a^{2}+b^{2}+c^{2}=2(a-b-c)=3$ 2a-3b+4c=? <u>Salh:</u> <u>Basic:</u> $a^2 - 2a + 1 + b^2 + 2b + 1 + c^2 + 2c + 1 = 0$ $(a-1)^2 + (b+1)^2 + (c+1)^2 = 0$ a=1, b=-1, c=-1Put in egh Unleash the topper in you = 2x1 - 3x - 1 + 4x - 1= 2+3-4=1

 $\frac{\text{Trick'-}}{\text{a} = 1} \text{ Assume the Value that Satisfy above eqn} \\ a = 1, b = -1, c = -1 \\ (1)^2 + (-1)^2 + (-1)^2 = 2 (1+1+1) \cdot 3 \\ 3 = 3 \\ \text{So,} \\ 2 \times 1 - 3 \times -1 + 4 \times -1 = 1 \\ \end{array}$

Formula:

$$\mu^{2} + y^{2} + a\mu + by + c = 0$$

$$\mu^{2} + y^{2} + a\mu + by + c = 0$$

$$\mu^{2} + y^{2} + a\mu + by + c = 0$$

$$\mu^{2} = \frac{-Coefficient of \mu^{2}}{2x Coefficient of y^{2}}$$

$$\boxed{y = \frac{-Coefficient of y^{2}}{2x Coefficient of y^{2}}}$$

$$\boxed{z = \frac{-Coefficient of z}{2x Coefficient of z^{2}}}$$
So,

$$a^{2} + b^{2} + c^{2} - 2a + 2b + 2c - 3 = 0$$

$$a = \frac{+2}{2\chi_{1}} = 1$$

$$b = \frac{-2}{2\chi_{1}} = -1, \quad c = \frac{-2}{2\chi_{1}} = -1$$
Put the Values in eqn

$$= 2\chi_{1} - 3\chi_{-1} + 4\chi_{-1} = 1$$
Que:

$$\mu^{2} + y^{2} - 6\mu - 8\mu + 25 = 0$$

$$\mu - y = ?$$

$$\frac{Sol^{n} + formula:}{\mu} = \frac{-\chi - G}{2\chi_{1}} = 3$$

$$y = \frac{-\chi - 8}{2\chi_{1}} = 4$$

$$\mu - y = 3 - 4 = (1)$$

Toppersnotes

Poractise Yourself :- $049.1 \Rightarrow 3 + \frac{1}{3+2} = 0, (3+2)^3 + \frac{1}{(3+2)^3} = ?$ Que 2 > P-2q=4, P3-8q3-24Pq-64=? Que $3 \Rightarrow \frac{6H-2}{H} + \frac{6Y-2}{H} + \frac{6Z-2}{Z} = 0, \frac{1}{H} + \frac{1}{Y} + \frac{1}{Z} = ?$ Que $u \Rightarrow H + \frac{1}{4} = 1$, $y + \frac{1}{2} = 1$, $z + \frac{1}{H} = ?$ Que 5 > H3y = Hyz = 150, Find the Value of y? $Q_{4e,6} \Rightarrow H^{2} + y^{2} - 10H + 12y + 61 = 0$, 2H + 3y = ? $Q_{40.7} \Rightarrow 16 \pi^{2} + 4g^{2} - 40\pi + 12g + 34 = 0, \pi - g = ?$ Unleash the topper in you Ans·1 → 2 Ans. 2 ⇒ 0 Ans·3⇒ 3 Ans·4 ⇒ 01 Ans. 5 ⇒ 150 Ans·6 ⇒ 8 $Ans.7 \Rightarrow 11/1$

⇒ These are two Concepts On the basis of that SSC of asks the questions.

•
$$H + \frac{4}{H} = a \longrightarrow H^2 + \frac{4}{H^2} = a^{2-2}$$

 $\left(H + \frac{4}{H}\right)^2 = a^2$
 $H^2 + \frac{4}{H^2} = a^{2-2}$
• $H + \frac{4}{H} = a \longrightarrow H^2 + \frac{4}{H^2} = a^{2+2}$
• $H + \frac{4}{H} = a \longrightarrow H^2 = \frac{4}{H^2} = a \int a^{2-4} H$
 $\int H + \frac{4}{H} = a \longrightarrow H^2 = \frac{4}{H^2} = a \int a^{2-4} H$
 $\int H + \frac{4}{H} = a \longrightarrow H^2 = \frac{4}{H^2} = a \int a^{2-4} H$
 $\int H + \frac{4}{H} = a \longrightarrow H^2 = \frac{4}{H^2} = a \int a^{2-4} H$
 $(a+b)^2 - (a-b)^2 = 4ab [Given in formula Section - formula [2s]]$
 $So , \left(H + \frac{4}{H}\right)^2 - \left(H - \frac{4}{H}\right)^2 = 4x H \times \frac{4}{H}$
 $\left(H - \frac{4}{H}\right) = \int \left(H + \frac{4}{H}\right)^{2-4} + \left(H + \frac{4}{H}\right) = \int \left(H = \frac{4}{H}\right)^2 + 4$
 $\left(H - \frac{4}{H}\right) = \sqrt{a^2 - 4}$
 $So , H^2 - \frac{4}{H^2} = \left(H + \frac{4}{H}\right) \left(H - \frac{4}{H}\right) = a \sqrt{a^2 - 4}$
• $\left[H - \frac{4}{H} = a + H^{2-} - \frac{4}{H^2} = a \sqrt{a^2 + 4}\right]$
• $\left[H + \frac{4}{H} = a - 3 + 3 + 4 + \frac{4}{H^3} = a^3 - 3a$
 $= (H + \frac{4}{H})^3 = a^3$
 $= H^3 + \frac{4}{H^3} + 3a = a >$
 $= H^3 + \frac{4}{H^3} = a^3 - 3a$

Toppersuoles Unleash the topper in you



• When $(H + \frac{1}{H} = 1)$ is given, then $H^3 = 1$ • $H + \frac{1}{H} = \sqrt{3}$, $H^6 = -1$ = $(H + \frac{1}{H})^3 = (\sqrt{3})^3$ = $H^3 + \frac{1}{H^3} + 3 \times H \times \frac{1}{H} (H + \frac{1}{H}) = 3$ $H^3 + \frac{1}{H^3} = 3 - 3 = 0$ $\frac{H^6 + 1}{H^3} = 1$ $H^6 = -1$ • $\mathcal{H}^{h} + \frac{1}{\mu^{h}} = 1$, then $\mathcal{H} + \frac{1}{\mu} = -1$ • $\mathcal{H} + \frac{1}{\mu} = a$, $\mathcal{H}^{q} + \frac{1}{\mu^{q}} = \left[\left(a^{2} - 2 \right)^{2} - 2 \right]$ $\left[\left(\mathcal{H} + \frac{1}{\mu} \right)^{2} \right] = (a^{2})$ $\left[\mathcal{H}^{2} + \frac{1}{\mu^{2}} + 2 \right] = a^{2}$ $\left(\mathcal{H}^{2} + \frac{1}{\mu^{2}} \right)^{2} = (a^{2} - 2)^{2}$ $\mathcal{H}^{q} + \frac{1}{\mu^{q}} = (a^{2} - 2)^{2} - 2$ • $\mathcal{H}^{5} + \frac{1}{\mu^{5}} = \left(\mathcal{H}^{q} + \frac{1}{\mu^{q}} \right) \left(\mathcal{H} + \frac{1}{\mu} \right) - \left(\mathcal{H}^{3} + \frac{1}{\mu^{3}} \right)$ $\mathcal{O}\sigma = \left(\mathcal{H}^{3} + \frac{1}{\mu^{3}} \right) \left(\mathcal{H}^{2} + \frac{1}{\mu^{2}} \right) - \left(\mathcal{H} + \frac{1}{\mu} \right)$ • $\mathcal{H}^{6} + \frac{1}{\mu^{6}} = \left(\mathcal{H}^{q} + \frac{1}{\mu^{q}} \right) \left(\mathcal{H}^{2} + \frac{1}{\mu^{2}} \right) - \left(\mathcal{H}^{2} + \frac{1}{\mu^{2}} \right)$

For any Power of н, We factorise the Power and multiply that and after that divide the difference of them.

 $5 = (3)(2) - (1) , \quad 6 = (4)(2) - (2)$ $(4)(1) - (3) \quad 7 = (5)(2) - (3)$ or7 = (4)(3) - (1)

Que:
$$H + \frac{1}{H} = 4$$
, $H^2 + \frac{1}{H^2} = ?$
Soln: When, $H + \frac{1}{H} = a$, then $H^2 + \frac{1}{H^2} = a^2 - 2$
So, $H^2 + \frac{1}{H^2} = (4)^2 - 2 = 14$